Op_ GeV]

7000 GeV pp | Unlderllyingl Event

Ratio to ATLAS

| T I T I T I T I T | I T |_ 9

c

- — D
. Average IS N, (Il < 2.5, b, > 0.5 GeV) —E

- W ATLAS 18

| --0-- Herwig 7.1.0 default |

| —A— Pythia 6.428 370 12

o |- ¢ Sherpa2.2.9 default e

- 4@
=

- -

15— —

— 1o
™
<
(40
<
o
™
—
x
S,
N

= ]G
=

- 18

0.5 — ¥

u 49

- 18

L | [ | | | | | | | I | || =

: T T T T | T T T T | T T T |:

2 B =2

B A9 _

. . ais
0.5 — —0.5
" 1 1 " 1 1 | " 1 1 1 1 | " 1 " 1 1 " |
0 10 20 30
N



	Contents
	Page 1


